
1 
 

SECONDARY SCHOOL EXAMINATION – 2020 (ANNUAL) 

Model Set 

Home Science (OPT) 

Time : 2 Hrs. 45 Minutes      Full Marks : 70 

 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answer in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k 

gSA 

15 Minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa foHkDr gS] [k.M&v ,oa [k.M&cA 

This question paper is divided into two sections – SECTION-A 

and SECTION-B 

5- [k.M&v esa 42 oLrqfu"B iz’u gSa] ftuesa 35 iz’u vfuok;Z gSaA vxj dksbZ 

ijh{kkFkhZ 35 ls T;knk oLrqfu"B iz’uksa dk mÙkj nsrs gSa rks ewY;kadu dsoy izFke 
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35 mÙkj dh gh tk;sxhA izR;sd mÙkj ds fy, 1 vad fu/kkZfjr gSA viuk mÙkj 

miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh o`Ùk dks dkys@uhys 

ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn 

dk mÙkj&iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section A, there are 42 objective type questions, in which 35 

questions are to be answered. If a candidate answers more than 

35 objective questions then the evaluation will be done for the first 

35 answers only. Each question carries 1 mark. Darken the circle 

with blue/black ball pen against the correct option on OMR Sheet 

provided to you. Do not use Whitener/ Liquid/Blade/Nail etc. on 

OMR Sheet; otherwise the result will be invalid.  

6- [k.M&c esa dqy 18 y?kq mÙkjh; iz’u gSaA ¼izR;sd iz’u ds fy, 2 vad fu/kkZfjr 

gSa½ ftuesa ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr] bl 

[k.M esa 06 nh?kZ mÙkjh; iz’u fn, gSa ¼izR;sd ds fy, 5 vad fu/kkZfjr gS½ ftuesa 

ls fdUgha rhu iz’uksa dk mÙkj nsuk vfuok;Z gSA 

In section B, there are 18 short answer type questions (each 

carrying 2 marks) out of which any 10 questions are to be 

answered. Apart from this, there are 06 long answer type 

questions (each carrying 5 marks) out of which any 03 questions 

are to be answered. 

7- fdlh Hkh izdkj ds bysDVªkWfud&midj.k dk iz;ksx iw.kZr;k oftZr gSA 
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Use of any electronic appliances is strictly prohibited. 

Section-A (Objective Type Questions)

iz'u la[;k 1 ls 42 rd ds izR;sd iz’u ds lkFk pkj fodYi  fn, x, gSa] ftuesa 

ls flQZ ,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&’khV ij fpfàr djsaA 

fdUgha 35 iz’uksa dk mÙkj nsaA           

 (35x1=35)

Question from 1 to 42 have four options, out of which only one is 

correct. You have to mark your selected option on the OMR-Sheet. Answer 

any 35 questions.        (35x1=35) 

1- jDr esa ty dh ek=k gS & 

(A) 40 %     (B) 50 % 

(C) 60 %     (D) 90 % 

Amount of water in blood is - 

(A) 40 %      (B) 50 % 

(C) 60 %     (D) 90 % 

2- ,uhfe;k fdldh deh ls gksrk gS \ 

(A) fgeksXykschu     (B) izksVhu 

(C) olk      (D) dkcksZgkbMªsV 
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Anemia is caused by the deficiency of - 

(A) Hemoglobin    (B) Protein 

(C) Fat      (D) Carbohydrate 

3- Qq¶Qqlh; dksf’kdkvksa dk tky QsQM+ks dh fdl lajpuk esa gksrk gS\ 

(A) xzluh     (B) ok;qdks"k 

(C) 'okluyh     (D) xzkluyh 

The network of Pulmonary Cells is situated in which structure of 

lungs? 

(A) Pharynx      (B) Alveoli 

(C) Trachea    (D) Oesophagus 

4- buesa ls dkSu 'olura= dh chekjh ugha gS\‘ 

(A) fueksfu;k     (B) Vk;Qk;M 

(C) czksUdkbfVl     (D) vLFkek 

Which of these is not a disease of respiratory system. 

(A) Pneumonia    (B) Typhoid 

(C) Bronchitis    (D) Asthma 

5- uotkr f’k’kqvksa esa gfM~M;ksa dh la[;k fdruh gksrh gS\ 

(A) 200      (B) 206 
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(C) 208      (D) 300 

What is the number of bones in newborns? 

(A) 200      (B) 206 

(C) 208      (D) 300 

6- :f/kj okfgfu;k¡ fdrus izdkj dh gksrh gSa \ 

(A) ,d       (B) nks 

(C) rhu      (D) pkj 

How many types of blood vessels are there? 

(A) 1      (B) 2 

(C) 3      (D) 4 

7- buesa ls dkSu euq"; ds nkar dk Hkkx gS\ 

(A) flj ;k f’k[kj    (B) xzhok ;k xnZu 

(C) tM+      (D) mi;qZDr lHkh 

Which of these is a part of human teeth? 

(A) crown     (B) neck 

(C) root     (D) all the above 

8- buesa ls dkSu mtkZ iznku djrk gS\ 

(A) olk      (B) dkcksZgkbMªsV 

(C) izksVhu     (D) buesa ls lHkh 
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Which of these provide energy? 

(A) Fat      (B) Carbohydrate 

(C) Protein     (D) All of these 

9- buesa ls dkSu ikpura= dh xM+cM+h gS\ 

(A) dCt      (B) ân; dh tyu  

(C) th fepykuk     (D) mi;qZDr lHkh 

Which of these is a disorder of the digestive system?  

(A) Constipation    (B) Heart burn 

(C) Nausea     (D) All the above 

10- eysfj;k QSyrk gS 

(A) ,suksQsfyt ePNj ls   (B) fiLlw ls 

(C) D;wysDl ls     (D) eD[kh ls 

Malaria spreads throgh 

(A) Anopheles mosquitoes  (B) Flea 

(C) Culex     (D) Fly 

11- fjdsV~l fdl foVkfeu dh deh ls gksrk gS\ 

(A) foVkfeu A     (B) foVkfeu B 

(C) foVkfeu C     (D) foVkfeu D 
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Rickets is caused by deficiency of which vitamin? 

(A) Vitamin-A    (B) Vitamin-B 

(C) Vitamin-C    (D) Vitamin-D 

12- buesa ls dkSu [kljk dk y{k.k gS\  

(A) tqdke     (B) cq[kkj ds lkFk [kk¡lh 

(C) 'kjhj ij yky nkusa   (D) mi;qZDr lHkh 

Which of the following is a symptom of Measles? 

(A) Common cold    (B) Cough with fever 

(C) Red rashes on the body  (D) All of these 

13- buesa ls dkSu ctV dk ,d izdkj gS \  

(A) ykHk dk ctV     (B) larqfyr ctV  

(C) ?kkVs dk ctV    (D) buesa ls lHkh 

Which of these is a type of budget? 

(A) Surplus budget    (B) Balanced budget 

(C) Deficit budget    (D) All the above 

14- izloksijkar ns[kHkky ds varxZr fdldh ns[kHkky dh tkrh gS\ 

(A) cPps dh     (B) ekrk dh 

(C) nksuksa dh     (D) nksuksa dh ugha 
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Which of these comes under postnatal care? 

(A) Care of child    (B) Care of mother 

(C) A and B both    (D) None of these 

15- izs’kj dqdj ls cpr gksrh gS 

(A) Je dh     (B) bZa/ku dh 

(C) le; dh     (D) mi;qZDr lHkh dh 

Pressure cooker saves - 

(A) Labour     (B) Fuel 

(C) Time     (D) All of these 

16- buesa ls dkSu iznw"k.k dk izdkj gS\ 

(A) ok;q       (B) ty 

(C) /ofu      (D) buesa ls lHkh 

Which of these is a type of pollution? 

(A) Air      (B) Water 

(C) Noise     (D) All the above 

17- lw;Z dh jks’kuh ls gesa D;k feyrk gS\ 

(A) foVkfeu A     (B) foVkfeu B 

(C) foVkfeu C     (D) foVkfeu D 
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What do we get from sunlight ? 

(A) Vitamin A    (B) Vitamin B 

(C) Vitamin C    (D) Vitamin D 

18- x`g vyadj.k fdl ij fuHkZj gS \ 

(A) jax ds Kku ij    (B) dyk ds Kku ij 

(C) vkfFkZd n’kk ij    (D) buesa ls lHkh 

Home decoration is dependent on - 

(A) Knowledge of colour   (B) Knowledge of art 

(C) Financial condition   (D) All of these 

19- QuhZpj gksuk pkfg, 

(A) cgqi;ksxh     (B) vkjkensg 

(C) dherh     (D) A vkSj B nksuksa 

Furniture should be - 

(A) Multi useful    (B) Comfortable 

(C) Costly     (D) A & B both 

20- buesa ls dkSu foVkfeu ^lh* dk lcls mÙke L=ksr gS\ 

(A) ukjaxh     (B) vk¡oyk 

(C) VekVj     (D) ve:n 
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Which of these is the best source of Vitamin C? 

(A) Orange     (B) Amla 

(C) Tomato     (D) Guava 

21- buesa ls dkSu euq"; dh cqfu;knh t:jr gSa\ 

(A) Hkkstu     (B) oL= 

(C) vkokl     (D) buesa ls lHkh 

Which of these is a basic human need? 

(A) Food     (B) Clothing 

(C) Shelter     (D) All of these 

22- ,d xzke dkcksZgkbMªsV esa fdruh dSyksjh gksrh gS\ 

(A) 2 dSyksjh     (B) 3 dSyksjh 

(C) 4 dSyksjh     (D) 5 dSyksjh 

How many calories are in one gram of Carbohydrate? 

(A) 2 Calories    (B) 3 Calories 

(C) 4 Calories    (D) 5 Calories 

23- buesa ls dkSu LoPNrk laca/kh dk;Z gS & 

(A) izfrfnu Luku djuk    

(B) [kkuk [kkus ds igys gkFk /kksuk 
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(C) nk¡r&uk[kwu lkQ j[kuk 

(D) mi;qZDr lHkh 

Which of these is related with sanitation. 

(A) Bathing daily     

(B) Washing hands before eating 

(C) Keeping teeth and nails clean 

(D) All of these 

24- buesa ls dkSu ikuh ls lacaf/kr chekjh ugha gS\ 

(A) Msaxw      (B) VkbZQkbZM 

(C) gStk      (D) e/qkesg 

Which of these is not a water related disease? 

(A) Dengue     (B) Typhoid 

(C) Cholera     (D) Diabetes 

25- Jo.k {kerk de gksus dk dkj.k gS & 

(A) ok;q iznq"k.k     (B) m"ek iznq"k.k 

(C) Hkwfe iznq"k.k     (D) /ofu iznq"k.k 

The reason for hearing loss is - 

(A) Air pollution    (B) Heat pollution 
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(C) Land pollution    (D) Sound pollution 

26- ty esa ?kqyu’khy foVkfeu gS 

(A) foVkfeu A     (B) foVkfeu C 

(C) foVkfeu D     (D) foVkfeu E 

Water soluble vitamin is - 

(A) Vitamin A    (B) Vitamin C 

(C) Vitamin D    (D) Vitamin E 

27- uotkr f’k’kqvksa esa D;k vke leL;k,¡ gSa \ 

(A) lnhZ      (B) tqdke 

(C) cq[kkj     (D) mi;qZDr lHkh 

What are the common problems in newborns? 

(A) Colds     (B) Cough 

(C) Fever     (D) All the above 

28- jsfÝtjsVj dk mi;ksx fd;k tkrk gS 

(A) iz’khru esa     (B) futZyhdj.k esa 

(C) fd.ou esa     (D) buesa ls lHkh 

Refrigerator is used for - 

(A) Refrigeration    (B) Dehydration 

(C) Fermentation    (D) All of these 

29- ued esa dkSu lk [kfut ugha ik;k tkrk gS\ 
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(A) dSfYl;e     (B) ykSg rRo 

(C) vk;ksfMu     (D) iksVkf’k;e 

Which of these minerals is not found in salt? 

(A) Calcium     (B) Iron 

(C) Iodine     (D) Potassium 

30- dqiks"k.k ls rkRi;Z gS  

(A) vYiiks"k.k     (B) vfriks"k.k 

(C) mi;qZDr nksuksa    (D) nksuksa esa ls dksbZ ugha 

Malnutrition means 

(A) Under nutrition    (B) Over nutrition 

(C) Both the above   (D) None of these 

31- ty dh lajpuk gksrh gS 

(A) vkWDlhtu ,oa gkbMªkstu ls  (B) ukbVªkstu ls 

(C) Dyksjhu ls     (D) ghfy;e ls 

Water is composed of ? 

(A) Oxygen and hydrogen  (B) Nitrogen 

(C) Chlorine     (D) Helium 

32- fdl izdkj ds ikS/ks dks izkjaHk ls gh m[kkM+ Qsaduk pkfg,\ 
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(A) iq"V ikS/kksa dks    (B) gjs&Hkjs ikS/kksa dks 

(C) nqcys ikS/kksa dks    (D) jksxxzLr ikS/kksa dks 

What kind of plants should be uprooted at the beginning 

(A) Healthy plants    (B) Green plants 

(C) Thin plants    (D) Sick plants 

33- lkcqu cukus esa fdldk iz;ksx fd;k tkrk gS\ 

(A) olk      (B) {kkj 

(C) cslu     (D) mijksDr lHkh 

Which of the following is used in soap making? 

(A) Fat      (B) Base 

(C) Gram flour    (D) All of the above. 

34- 'kkjhfjd Je ds fy, ÅtkZ dk cM+k L=ksr gS & 

(A) olk      (B) dkcksZgkbMªsV 

(C) [kfut yo.k    (D) foVkfeu 

Major source of energy for physical work is- 

(A) Fat      (B) Carbohydrate 

(C) Mineral     (D) Vitamin 

35- buesa ls dkSu xg̀ foKku dh 'kk[kk ugh gS\ 
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(A) oL= ,oa ifj/kku     (B) vkgkj foKu  

(C) cky fodkl     (D) cky euksfoKku 

Which of these is not a branch of Home Science. 

(A) Textile and Clothing   (B) Food and Nutrition 

(C) Child Development   (D) Child Psychology 

36- dkSu lk jkstxkj Lojkstxkj ds varxZr vkrk gSa \ 

(A) Ldwy v/;kid    (B) csdjh dk ekfyd 

(C) iz;ksx’kkyk lgk;d   (D) 'kks/kdrkZ 

Which profession comes under self-employment ? 

(A) School teacher   (B) Bakery owner 

(C) Lab Assistant    (D) Research scholar 

37- buesa ls dkSu Hkkstu idkus dh fof/k gS \ 

(A) mckyuk     (B) Hkki }kjk idkuk 

(C) xgjk ryuk    (D) mijksDr lHkh 

Which of these is a method of cooking? 

(A) Boling     (B) Steaming 

(C) Deep fry     (D) All of these 

38- Qyksa ls jl fudkyus ds fy, iz;ksx fd;k tkrk gS\ 
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(A) feDlj xzkb.Mj    (B) twlj 

(C) Cys.Mj     (D) buesa ls dksbZ ugha 

Which device is used to extract fruit juice? 

(A) Mixer Grinder    (B) Juicer 

(C) Blender     (D) None of these 

39- buesa ls dkSu xf̀g.kh ds dÙkZO; gSa\ 

(A) ?kj dh lQkbZ      

(B) ifjokj ds lnL;ksa ds Hkkstu ,oa iks"k.k dk [;ky j[kuk 

(C) cPpksa dh ijofj’k 

(D) mi;qZDr lHkh 

Which of the following are the duties of a homemaker? 

(A) House cleaning    

(B) Taking care of family members’ food and nutrition 

(C) Children’s upbringing   

(D) All of these 

40- ikuh esas [kkjkiu gksrk gSA 

(A) yo.kksa ds dkj.k    (B) jax ds dkj.k 

(C) xanxh ds dkj.k    (D) feV~Vh ds dkj.k 

Salinity of water is due to - 
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(A) salts     (B) colour 

(C) dirt      (D) soil 

41- buesa ls nw/k esa lcls T;knk D;k gksrk gS\ 

(A) izksVhu     (B) ty 

(C) olk      (D) dkcksZgkbMªsV 

Which of these is the maximum in milk. 

(A) Protein     (B) Water 

(C) Fat      (D) Carbohydrate 

Section-B

Short answer type questions 

Non-objective type questions

iz’u la[;k 1 ls 18 rd y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 

vad fu/kkZfjr gSaA vius mÙkj yxHkx 40 'kCnksa esa nsaaA    ¼10x2=20½ 

Question No.-1 to 18 are short answer type. Answer any 10 questions. Each 

question carries 2 marks. Write your answer in 40 words approximately. 

1- nk¡r 

 Teeth 

2-  ân; 

 Heart 

3- izkFkfed fpfdRlk 
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 First Aid 

4- jDr  

 Blood 

5- cSad 

 Bank 

6- lapkjh jksx 

 Communicable disease 

7- [kkuk idkus dh fof/k;k¡ 

 Cooking methods 

8- ty dh lajpuk 

 Composition of water 

9- 'kwy@vk¡o 

 Dysentery 

10- /kCcs 

 Stains 

11- uotkr cPps dks Luku djkuk 

 Bathing of a newborn 

12- ik’P;wjhdj.k 

 Pasteurization 

13- fo|qr bL=h 

 Electric Iron 
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14- izlo d{k rS;kj djuk 

 Prepration of the labour room 

15- LoSfPNd cpr 

 Voluntary saving 

16- ctV 

 Budget 

17- ?kj ds vanj [ksys tkus okys [ksy 

 Indoor games 

18-  d`f=e izfrj{k.k 

 Artificial Immunity 

Long Answer Type Question 

iz'u la[;k 19 ls 24 rd nh?kZ mÙkjh; gSaA bl dksfV ds izR;sd iz’u ds fy, ik¡p vad 

fu/kkZfjr gSaA fdUgha 3 iz’uksa ds mÙkj nsaA vius iz’uksa ds mÙkj yxHkx 100 'kCnksa esa nsaaA 

           ¼4x1=4½ 

Question Nos 19 to 24 are long Answer Type Questions. Each question 

carries 5 marks. Answer any 3 Questions. Write your answer in 

approximately 100 words.        ¼4x1=4½ 

19-  Hkkstu idkus ds mís’; D;k gS\ 

 What are the objectives of cooking ? 
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20- olk dk 'kjhj esa D;k egRo gS\ o.kZu djsaA 

 What is the importance of fat in the body? Describe. 

21- ikfjokfjd ctV fdls dgrs gSa \ blls gksus okys ykHk dk o.kZu djsaA 

 What do you mean by family budget ? Describe its advantage ? 

22- jsMhesM oL=ksas dh yksdfiz;rk ds dkj.k D;k gS\ 

 What are the reasons for popularity of readymade clothes? 

23- LokLF; ds lkekU; fu;e D;k gS\ 

 What are general rules for hygiene? 

24- ,d vkn’kZ x`fg.kh ds D;k xq.k gksus pkfg,\ 

 What should be the qualities of an ideal homemaker ? 


